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In any A ABC, the following relationship holds :
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Proposed by Zaza Mzhavanadze-Georgia

Solution by Soumava Chakraborty-Kolkata-India

2 2 2
Vma\ (W +£ M, My M
Wp h, m,/ ~ hi hZ hZ

1 C 1 M1tr1nov1c
=4rzsz.(b2ma+c2mb+a2mc) = 41'252 \[z «“ \/Zm =

cyc cyc

Goldstone

and
1 3 Leibnitz ,3
—4r2.27r2.\/22a2b2 — 16r2s2, Zz a? < W \/(BRZ 161‘2)82. Z'ng

cyc cyc

2 RZ — 21‘2
Mitrinovic 1 27R2 3 R“. —
< ———. [(8R2% — 1612). 1 - 9RZ = ————=—

T 4r%.27r? 4 4r*
11 (81 (R)5 g0 _ B1R° —2560r°
32 - 32r¢

? R? — 2r?
& (81R® — 2560r5)° > 64R*r* <T>

? R
& 6561t10 — 32t% — 414720t + 64t* + 6553600 > 0 (t = ;)

t—2) 6561t3 + 26244t + 78732t° + 209952t + 524848t*)) -
(t-2) >0

+844864t3 + 1280128t> + 1741056t + 1843712
+410624

Euler
—true~t > 2
2

(59 () () =+ &6 )

Wy h, m, 32

+

1 2
\/—> < Wb>2 (\/—> >ﬁ+£+£Berg;trom (chcm_a)

W, h, m,/ m m? mZ 1

Again, <
chc h_a



ROMANIAN MATHEMATICAL MAGAZINE

2
Bergstrom 9 2 Leuenberger + Euler 9 4r 4r> Euler 4r° 64r°
> J— = — = > =
r <chc ma> r RZ R2r4 = R 4 R6
®(2)

() () () e

2

W h, m,) = R® and so,
2 2 2
64r° m, Wp h, 1 (81 R\’
oart_(Lma) () (SBe) L (BLRY
R6 Wy h, m, r \32\r

v AABC,' =" iff A ABC is equilateral (QED)



